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Answer any thirty from the following questions. [Choose the correct option and put tick -
(V) m'ark'beside given box]: _ 2x30=60

1. The doll’s house was sent to
a)  the Burnell children as a gift. -
b) . the Kelvey sisters ]
¢)  Emmie Cole and Lenga Logan ]
d) Miss Lecky. ]
2. Who were the first to visit the doll’s house?
a) Lottie and Lena Logan ]
b)  Emmie Cole and Lena Logan ]
¢) Else and Isabel []
d) The Kelvey sisters £
3. “It was drawn at the Kelveys.” Here ‘it’ refers to
a) the doll’s house (]
b)  the ring []
¢) the line ]
d) none of the above &
4. In inviting the Kelvey sisters to visit the doll’s house, Kezia
a)  shows her kindness to them D
b)  unwittingly breaks the barriers imposed by the society ]
¢)  wants to show the little lamp []
d)  wants to irritate Aunt Beryl []
5. What does Shakespeare compare his friend to?
a)  buds of May L]
b)  summer’s day []
¢) late autumn []
d) the sun . ]
6.  “But thy eternal summer shall not fade.” The poet addresses
a)  the Dark Lady ]
b) the young friend ]
¢) Nature D
d) The sun L]
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"And summer’s lease”-the word ‘lease’ means

a) A contractual agreement between the owner and the tenant

b)  tenure
¢) period
d) stay

"So long lives this.” Here ‘this ’refers to

a)  the beauty of Nature

b)  friendship

c) poetry

d) the summer |

The "darling buds" are shaken by rough winds in-
a) March '

b)  April
¢c) May
d) June

“Shall I compare thee to a Summer’s Day” celebrates
a)  the beauty of the summer season

b)  the immortalization of the poet’s friend

c) the eternity of natural beauty

d) the strength of the rough winds.

Rough winds in summer days destroy

a) flowers

b) buds
c) trees
d) fruits

“On His Blindness” mourns
a) the decline of faith
b)  decline of values

¢) loss of vision

d) loss of vision and poetic power.
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Who answers the poet’s question in Milton’s sonnet?

a) Talent

'b) Patience

c) God

d) the poetic voice

"They also serve.” Whom do they serve?
a) Patience

b) God
c) the distressed
d) Christ

"On His Blindness” follows the pattern of
a) Petrarchan Sonnet |

b) Spenserian Sonnet

¢) Shakespearean Sonnet

d) none of the above

Lucy is compared to

a) a violet

b) a violet and a star

c) the spring of Dove

d) flowers

Lucy ceased to be means

é) she stopped

b) she passed away

c) she seized the opportunity

d) she left the place

What is the meaning of the word "untrodden”?

a) unexplored

b) uneven

¢) hidden
d) explored
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. The death of Lucy created

a) an overwhelming sense of grief in the poet’s m
b) a sense of relief

¢) a feeling of indifference

d) the loss of the world.

The speaker of “Prayer Before Birth” is

a)  a newly born child

b) a philosopher

¢) an unborn child

d) devil

The child in MacNeice’s poem refuses

a) to be tortured by the elderly

b) * to be bullied by the bureaucrats

c)l the poet :

d) the beggar

"....would dragoon me”--the word ‘dragoon’ means
a) drag on

b) persecute

c) lﬁerceive

d) like a dragon

. In "Freedom" Bernard Shaw talks of

a)  natural slavery

b)  unnatura] slavery

¢)  both natural slavery and unnatura] slavery
d)  consequences of trade unionism,

Who is Tago?

a)  a character created by Bernard Shaw

By ‘a 'treacherous charactér in Shakespeare’s tragedy
¢} a character in Shakespeare’s comedy

d)  a Byronic hero
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Slavery of man to man produces a state of civil war between

a) man and nature

b) the poor and the rich

¢) the slaves and their masters

d) ‘two countries.

Bernard Shaw argues that absolute freedom i$

a) unattainable.

b) attainable

¢) hardly desirable

d) undesirable.

The Sergeant banks on getting

a) promotion if the fugitive can be arrested

b) promotion and prize money as a reward

c) nothing at all. _

d) appreciation from his countrymen.

The Ragged Man tells the Sergeant that he is

a) a friend of Jimmy Walsh

b) a friend of Granuaile

c) a friend of Johnny Hart

d) a poor man.

The Sergeant lets the Ragged Man escape because

a) he does not want promotion

b) his love for his country wins over his sense of duty
c) he is fond of the Ragged Man

d) he loves to listen to his songs

The Ragged Man felt grateful to the Sergeant because
a) he could earn some money by singing the ballads.
b) he helped him escape

c) he allowed him to stay there

d) he gave him company.
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“The Rising of the Moon” is

a)
b)
c)
d)

an allegorical play
a tragic play
a comedy .

a patriotic play

The unborn child wants

a)
b)
c)
d)

comfort and material pleasures of life
consolation from others
simple pleasures of Nature and an untainted society

forgiveness from others.

A sonnet has

a)
b)
c)
d)

“But now she had forgotten the cross lady.” The ‘cross lady’ refers to

a)
b)
c)
d)

The ‘rising moon’ symbolises:

one octave only:
one sestet only
both octave and sestet

a quatrain.

Mrs.Hay

Aunt Beryl

the mother of Isabel
Miss Lecky.

revolution
freedom of the British
freedom of Ireland

the moonshine.

1)

r
5
z

1 i R o s S o O O e



